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ag | BH | 3% +UHBkg/em) 2ot
Sl @ aaal sa | oay | me SO
H 33.86 9,302 19 2.2 5.6 3.8 -
SX| <Y 46.24 60,415 50 2.0 6.0 3.0 AK|
S | 6220 7,027 25 23 6.8 4.3 -
HAMH 31.20 3,044 10 2.8 5.3 41 -
HepbH 69.88 4,235 15 2.8 53 41 A K]
QXN 561 5,424 10 2.8 53 41 -
gqH 40.92 2,741 10 2.0 6.5 4.2 AKX
=X 19.77 5,525 18 2.0 6.2 39 AX|
MEH 4401 3,893 15 2.0 45 3.2 A K]
T 5.30 1,794 10 15 35 2.3 -
ZFuH 31.10 5464 25 15 5.0 33 -
ZTAHH 16.31 2,764 24 2.9 7.5 53 AX|
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iy HEAE B =H Iz
Lsacm ___%\ S j:t(E) = (D) JEp
HIS AIR(A) LR (Bx30%) [1+(A=Q) | Z}SXI(E) P
= H|-2(B) <100] [(D+100)xE]
27.16 16.16 14.54 53.53 23 1.07

@ Uz L8 JPHIE 4H0| 1.88%0|1 SYAF| HEE: Hi e
NEH|E0| 3.97%=2 SH7I 437%2 27850 i 253 JiEHE EX1t
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gHE | 59 dge Sl
L2t | MEE B | SEO _
JH2tH| S S22 | (Bx110%) HED) = K|(E) =)
AL (A) 71| 2kH| 2 (B) [(A+C)x100] [(D+100)xE]
1.88 3.97 437 43.02 2 0.86
® gddr

AFO0| 1.44%0|1 =

SH7l 100%2 QHE
oot HEE 144H0 =2 75K 2H

.
o
-
N2
o=

edx HapA g
e -
ot =2 E = 880 7t&X|(D) S2E
AIF (A) [(A+B)x100] [(C+100)x D]
1.44% 100% 144 23 0.03

® HjT oW BT O 4ote MHSA malga

- FA| 107) e
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